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General Instructions :
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(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer
Questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(iv) Questions from serial number 9 to 20 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(v) Questions from serial number 21 to 28 are 5 marks questions.
Answers of these questions should not exceed 120 words
each.

(vi) Question number 29 and 30 are map questions of 3 marks
each from History and Geography both. After completion,
attach the maps inside your answer-book.
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1930 ¥ 3fctdl w1 3 v wEifueH’ ® forem dfea foram o ?
Who organised Dalits into the ‘Depressed Classes Association’ in
1930 ?

‘I -<faqor ieram” o faToft ®R % T @ W fafaw |

Name the southern terminal station of the ‘North-South Corridor.’

Ife 31Tq foret Tepil AT o SRl -shetTai i T I T =R &,
qs 3179 e AT At ST i ?

If you want to extract information about the functions of any

government department, which right would you exercise ?

‘Teiifeer g’ <k 319 Tyw Hifsu |

Explain the meaning of ‘political party.’

IYARET o A b STHR HT hIg Th IS QT |

Give any one example of consumer’s ‘right to choose.’

‘Gere Tl o1 i R Ear g ¢

How do ‘pressure groups’ form ?

T o fohell T ‘eTa-wgE 1 3aTewu <ifSte s “Teiifees 31 <t Tt
G % &9 § R Ll @ |

Give an example of any ‘pressure group’ of India which functions

as a branch of ‘political party.’
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10.

11.

12.

STETIRATAT o SEL TANT H GUTl THET i ISR HITT | 1

Highlight the inherent problem in double coincidence of

wants.

TRd | YA 3TeIeH o IRY B & gl T Sron o1 fagerwor
FHifsTT | 3x1=3

Analyse any three reasons for the beginning of the consumer

movement in India.

TR0 H STEEIAN eI o | ged & foredl i shron sk fagerwor
hifeTT | 3x1=3

Analyse any three reasons for slowed down of Non-Cooperation

Movement in cities.

*ofek Tafm o Tk WeA € |7 Tk SRt S i g ST | 3x1=3
“Banks are efficient medium of exchange.” Support the statement

with arguments.

TAE T IR A, TSHITd i fohe TR ITford ahtd & 7 3eTeton
gied T¥ iy | 3x1=3

How do the pressure groups and movements influence politics ?

Explain with examples.
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13. ST qAT G137l 1 Toh €A § O TIH W A -1 ST o To1e aiEe
o el U & T HAT eI ¢ ¢ 3QTeL0N Al €98 shiTT | 3x1=3
Why do the movement of goods and services from one place to

another require fast and efficient means of transport ? Explain with

examples.

14. Y qUT I T TRETTER a1 SeTeen gry wuE Shifs | 3x1=3

Explain with examples the interdependence of agriculture and

industries.

15. ‘oridieH’ fea wyel @ form wew fira € 7 Iare afea wum ifsm | 3x1=3

How are ‘movements’ different from interest groups ? Explain

with examples.

16. FrEfet o R Sefet om & agfes qe=m sl J1aT 9aT
% fotu 33T U foReei i shewi o1 i shifsTy | 3x1=3
JroraT

Toraam w wiEifER & Fesl & a1 o f fSierft 9 o1y fored
A SIeATal o1 Ui hHifS |

Describe any three steps taken by the French revolutionaries to

create a sense of collective identity amongst the French people.

Or

Describe any three changes that came in the life of Vietnamese

after the colonisation of Vietnam by the French.
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17. Teha %l SR S ATet Tohrel i Hodl ol forgeryor shif | 3x1=3

Analyse any three values that make democracy better.

18. THAAT STEIGH o SR UPATE il TTHR L H Al e, idl ua
Tt aife % ITaE 1 YodTeR i | 3x1=3

Evaluate the contribution of folklore, songs, popular prints etc., in

shaping the nationalism during freedom struggle.

19. TEOYE HAGED kW e T FuHEr R TR T
Bt 2 7 ot i i =1 o s | 3x1=3
How are ‘local companies’ benefited by collaborating with

‘multinational companies’ ? Evaluate any three benefits.

20. 9Rd H WIE 3Tk At feyn-smEe W i fohdl oA fosraret
U T | 3x1=3
Describe any three characteristics of ‘Odisha-Jharkhand belt” of

iron ore in India.

21. AvSieRtuT I TfehaT hl STl <4 H T=Neh! o IS ol 9uH hifsa | 5x1=5

Describe the contribution of technology in promoting the process

of globalisation.
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22.

23.

24.

25.

IRd | TSI el § guR @ o o fope 7o fordl oier st =t
Fuia hifeTe | 5x1=5

Describe any five efforts made to reform political parties in India.

‘“d U ggF aiaed, 1t off 1o dftaed di e «1fees giaenses
21 e it gfy i 5x1=5

‘Roadways still have an edge over railways in India.” Support the

statement.

T 1815 | ‘forn weie Y Ote foree i ? fomem Gt & g
for T wg@ aftEd Al s e Fifse | 1+4=5

AT

foam & dursgars foet aEisti i S WO Cgren-gredl
iTe i ftreet 1 forgereor SifT |

Who hosted ‘Vienna Congress’ in 1815 ? Analyse the main
changes brought by the ‘Vienna Treaty.’

Or

Analyse the role of ‘Hoa-Hao’ movement to arouse anti-imperialist

sentiments in Vietnam.

‘TSR el o S ST ol foweryor Shif | 5x1=5

Analyse the main functions of ‘political parties.’
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26. “‘meredt it o e TR TS st STENT & SR SR gl
1o TwE oft |7 e sl gfE shifs | 5x1=5

“Plantation ~ workers had their own understanding of
Mahatma Gandhi’s ideas and the notion of ‘Swaraj’.” Support the

statement.

27. 9 # T v faffemt it seawedr 1 27 39wl S Wy
FHifsTT | 5%1=5

Why are rules and regulations needed in the market ? Explain with

examples.

28. WA o A JENT o TH@ Tohral &1 SH@ ATl shi T8 hife | g
vee Hifa & foreel o7 3e9at it =ame Sifse | 2+3=5
Explain any two main challenges faced by the jute industry in

India. Explain any three objectives of National Jute Policy.

29. o9 @& A, B 3R C, WRA & feu U UeHifaes {@r-wHfas | 37fehd
forw w2 1 21 e @ FEfefad SR i grEdar @ ggEnie et
3ok Il A AR Wi 78 e ) ik 3x1=3

A. ‘TSI HATEIGH ol 9199 o+ & FTEf-Sd €M |
B. 9% TN & Torami 1 g’ I gt ot |

C. 98 T STl AR T HiE 61 (e g3t o |
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Three features A, B and C are marked on the given political outline
map of India. Identify these features with the help of the following
information and write their correct names on the lines marked on

the map :

A. The place, related to the calling off the ‘Non-Cooperation

Movement.’
B. The place where the ‘Peasant’s Satyagraha’ was started.

C. Name the place where ‘Indian National Congress’ session was

held.

die : ke T e giEaniea adenterat o foe = @& 29 &

YA TWE

(29.1) ITTEAN AEGH F 9UH oH T TG T HT AW
fetfaT |

(29.2) TSN W 98 HH | TME 7, &l [FHMEI 4 HAWE TREH
Toram o |

(29.3) 38 TN &1 AW foiflgu S&T 1927 & 9RAT TP wOE w0
SHEIERT AT T |
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Note : The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 29 :

(29.1) Name the place related to the calling off the Non-

Cooperation Movement.

(29.2) Which 1is the place where the peasants started

‘Satyagraha’ in Gujarat ?

(29.3) Name the place where Indian National Congress session

was held in 1927.

30. WA % feu U TeHifos War-amtas 8 Fefafaa o s el @
FITTET 3TN ek A forfiau -

A. G| — AIRI-3E91d heg

B. ®Edl - TG TR 9O
C. TSUARE — YT SIS ITeh

On the given political outline map of India locate and label the

following with appropriate symbols :

A. Salem — Iron and Steel Centre
B. Kandla — Major Sea Port

C. Hyderabad - Software Technology Park
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Note :

32/1/2

frfafad w1 shae givantam wienfet & fou w1 9@ 30 &

WA WE:

(30.1) afHeHTg | fedra 1foersh SAett g 1 W foifae |
(30.2) ITfee # FH o1 @ T I fra © 7

(30.3) MY AreT 35 @9’ forg s H fea 7 7

The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 30 :
(30.1) Name the Nuclear Plant located in Tamil Nadu.
(30.2) Which is the major Sea Port located in Odisha.

(30.3) In which state is Durgapur ‘Iron and Steel Plant’

located ?
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